

Exercise 1

Calculate the following subtractions :

$67 - 3 =$

$94 - 1 =$

$28 - 8 =$

$6 - 3 =$

$34 - 3 =$

$2 - 1 =$

$38 - 8 =$

$58 - 3 =$

$68 - 6 =$

$89 - 6 =$

$55 - 5 =$

$7 - 6 =$

Exercise 2

Calculate the following subtractions :

$23 - 1 =$

$32 - 1 =$

$67 - 4 =$

$37 - 5 =$

$85 - 1 =$

$97 - 6 =$

$92 - 1 =$

$26 - 6 =$

$99 - 2 =$

$12 - 2 =$

$65 - 4 =$

$65 - 5 =$

Exercise 3

Calculate the following subtractions :

$53 - 3 =$

$33 - 2 =$

$99 - 5 =$

$58 - 5 =$

$78 - 3 =$

$99 - 3 =$

$66 - 6 =$

$29 - 8 =$

$53 - 3 =$

$13 - 3 =$

$56 - 1 =$

$77 - 7 =$

Exercise 4

Calculate the following subtractions :

$8 - 5 =$

$93 - 3 =$

$69 - 5 =$

$37 - 1 =$

$97 - 5 =$

$63 - 2 =$

$44 - 1 =$

$14 - 4 =$

$56 - 1 =$

$2 - 1 =$

$68 - 7 =$

$76 - 6 =$